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Chemistry Section 1

1. Which one of the following compounds is most acidic :-

ot
{ V=

CH,
B.

C.CH3NO3

D.CH3sCN


https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_ahAs0cu5ctgP

Answer: C

° Watch Video Solution

2. State which of the following statements is true for an ideal solution.

A AH,, = (+ )ve, AV = (+ )ve

B. PActual < PTheoretical
C.AGuix = (— )ve, ASpix = ( + )ve

D. AGpie = O, AHyy = O

Answer: C

° Watch Video Solution

3. Among the following, the compound that undergoes the fastest Sy1

reaction is:


https://dl.doubtnut.com/l/_ahAs0cu5ctgP
https://dl.doubtnut.com/l/_vRacRpgZoK6q
https://dl.doubtnut.com/l/_q6ZelSZmaOQB

OTs

D{'}'Ih
C

D.CH3CH, — OT's

Answer: C

° Watch Video Solution

4. Which one of the following events occurs during the charging of a lead

storage battery?

A. Consumption of sulphuric acid

B. Formation of sulphuric acid


https://dl.doubtnut.com/l/_q6ZelSZmaOQB
https://dl.doubtnut.com/l/_MH5XGYoBZ6yw

C. Formation of lead sulphate

D. Consumption of lead

Answer: B

° Watch Video Solution

5.If during an isothermal process certain gas is expanded from V; to V; .

Then, which of the following would be true?

A. during expansion temperature of the gas remains fixed

B. internal energy of the gas remains fixed

C. enthalpy of the gas remains fixed

D. entropy of the gas remains fixed

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_MH5XGYoBZ6yw
https://dl.doubtnut.com/l/_KHQYE2mTpq20
https://dl.doubtnut.com/l/_Bf69oiuttHrF

6. Which of the following is NOT related to green chemistry in day-to-day

life?

A. Use of liquefied carbondioxide as solvent for dry cleaning

B. Use of hydrogen peroxide with suitable catalyst for bleaching of

paper

C. Commercial preparation of ethanal by one step oxidation of ethene

in the presence of ionic catalyst Pd(Il) in aqueous medium

D. Use of sodium chlorate as pest controlling substance

Answer: D

o Watch Video Solution

7.The correct order of decreasing acid strength of trichloroacetic acid (A),
trifluoroacetic acid

(B) acetic acid


https://dl.doubtnut.com/l/_Bf69oiuttHrF
https://dl.doubtnut.com/l/_Zg0Pnq87BkeC

(C) and formic acid

(D) is:

A lgtligtllgtIV

B.lgtlllgtllgtIV

C.ligtigtIVvgtll

D.ll gt IVgtllgtl

Answer: C

o Watch Video Solution

8. A coordination complex has only two stereo isomers, having octahedral

coordination geometry. Identify the complex(es) among the following:
[Cr(H,05Cl|Cl,|Cl,, [CT(H2O)SC’Z3], [Ni(NH3)4Clz], [NH,],[NiClg]
A.only [Cr(H,0),Cl|Cl,
B. [C?"(H2O)30l3] and [NH4]4[N’LCZ6]

C. [Cr(H,0),Cl5] and [Ni(NHs),Cly]


https://dl.doubtnut.com/l/_Zg0Pnq87BkeC
https://dl.doubtnut.com/l/_dqUixUG7gLmK

D. only [Ni(NH;),Cls)

Answer: C

° Watch Video Solution

9. Among the three allotropes of an element, one is a good electrical

conductor, the second one is known to be one of the hardest materials

and the third one has a molecular form with an truncated icosahedral

structure. The element is:

A. boron

B. carbon

C.silicon

D. sulfur

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_dqUixUG7gLmK
https://dl.doubtnut.com/l/_Glk0ien44Yvy

10. For a hypothetical reaction, A + B + C — Products, the rate law is
determined to be rate = k[A][B]?. If the concentration of B is doubled
without changing the concentration of A and C, the reaction rate:
A.doubles
B. increases by a factor of four

C. increases by a factor of six

D. decreases by a factor of eight

Answer: B

o Watch Video Solution

1. Increasing order of basicity of the following molecules is:


https://dl.doubtnut.com/l/_Z3oK5pvXfcsm
https://dl.doubtnut.com/l/_6CiMsYeccPUQ

ALltnlcamitiv

B.ILIE NIt IVItI

Clultritnltiv

D.IIETIEIVItI

Answer: C

o View Text Solution

12. Choose the correct combination of true statements from the
statements given below regarding H3 BN H3 and H3CHj:

(i) the two molecules are isoelectronic

(ii) the two molecules are isostructural

(iii) both molecules have zero dipole moment

(iv) H3BN Hj3 is paramagnetic while H3CHj is diamagnetic

(v) both may be viewed as coordination compounds

A. (i), (iii) and (iv)


https://dl.doubtnut.com/l/_6CiMsYeccPUQ
https://dl.doubtnut.com/l/_sNha38yLPE69

B. (i) and (ii)

C. (ii) and (v)

D. (i), (ii) and (v)

Answer: B

o Watch Video Solution

13. An aqueous solution containing NH,Cl, FeCl3 and MnCl, is treated

with NH,OH solution.

The observation is that:
A.both Fe3™ and Mn?* will precipitate as hydroxides
B. only will Fe3* precipitate as hydroxide
C.only Mn?* will precipitate as hydroxide

D. NH,C'l will crystallize out from the solution

Answer: B

[ - 1


https://dl.doubtnut.com/l/_sNha38yLPE69
https://dl.doubtnut.com/l/_qflryK8gtApw

| @ View Text Solution

14.The final product of the following reaction is :

() O
Ph)S + H NOES
' Ll
HO
A.
B.
40
h
C.


https://dl.doubtnut.com/l/_qflryK8gtApw
https://dl.doubtnut.com/l/_aYQoU1lbcoEH

Answer: C

° View Text Solution

15. The major product obtained in the following transformation is:

CO.CN,
\ NalH

NaBH,

1-.,4) L 0H !

|
'CI//L‘T( Ph
O

CO,CH,

N

Ph
0

(1


https://dl.doubtnut.com/l/_aYQoU1lbcoEH
https://dl.doubtnut.com/l/_qfWtg2YXEUpR

CH.OH

CHO


https://dl.doubtnut.com/l/_qfWtg2YXEUpR

Answer: A

° Watch Video Solution

16. The major product expected from the following reaction is:

H:l! i
— 1,543,

— \— .
Huahi),

:ﬁrnu

CH.


https://dl.doubtnut.com/l/_qfWtg2YXEUpR
https://dl.doubtnut.com/l/_nIgAZZBrU0Gl

oI ol

H,C CH,
(B)
B.
0
H ;{_'J\/‘“\*cn_.
C
C. ()
0 ol
|
H.C CH,
D. (D)
Answer: D

o View Text Solution

17. Formulae for ortho-, pyro-, chain-, and double chain silicates are
respectively:
o qd— . 6— . 2— . 6—
A [SiO4]" , [Si207] , [Si203]" , [SiO11]
oy A . 6— 12— . 6—
B.[Si04]" , [Si207]" , [SiO3]" , [S4011]

C.[Si04]" ", [Si207]* 7, [Si0s] ™, [Si01]° ™


https://dl.doubtnut.com/l/_nIgAZZBrU0Gl
https://dl.doubtnut.com/l/_FIDrQ8kTa4Ur

D. [Si04]* ", [85206)° , [Si03]* ~, [Si011]°~

Answer: B

° Watch Video Solution

18. The use of superglue (2-cyanoacrylate) involve:

A. Radical chain growth polymerization

B. Ziegler Natta catalytic polymerization

C. Anionic chain growth polymerization

D. Cationic chain growth polymerization

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_FIDrQ8kTa4Ur
https://dl.doubtnut.com/l/_xQwg8ZNJhnfs

19. According to molecular orbital theory, which of the following is true
with respect to C; * and CZ~ ?
A. Both have same number of o bonds
B. 022+ has more number of m bonds and 022_ has less number of 7
bonds
C. (/’22+ is paramagnetic and 022* is diamagnetic

D. Both have same number of wbonds

Answer: C

o Watch Video Solution

20. Identify the correct match of monosaccharide to the characteristics of

the monosaccharide described:


https://dl.doubtnut.com/l/_xULL0hEUqkSl
https://dl.doubtnut.com/l/_tkLZ6pGSb4cN

CH,OH CH-.OH

0. OH 2 0. OCH, HOCH, o HOCH, (HU CH,OH
OH ol :
. :r—r Ol ﬁ OH
ot o OH OH OH

OH OH
(a) (h) (e} (d)

(i) Open-chain form is an aldopentose (ii) Open-chain form is a ketohexos

(iii) D-glucose (iv) A glycoside
A. (a)-(ii), (b)-(iii), (c)-(iv), (d)-(i)
B. (a)-(i), (b)-(ii), (c)-(iii), (d)-(iv)
C. (a)(iv), (b)-(i), (c)-(ii), (d)-(iii)

D. (a)iii), (b)-(iv), (c)-(i), (d)-(ii)

Answer: D

° Watch Video Solution

Chemistry Section 2

1.1t has been found that 0.290 g of an organic compound containing C, H

and O on complete combustion yielded 0.66 g of CO2 and 0.27 g of H20.


https://dl.doubtnut.com/l/_tkLZ6pGSb4cN
https://dl.doubtnut.com/l/_4lup4lZqGgIZ

The vapour density of the compound is found to be 29.0. Determine the

molecular formula of the compound.

° Watch Video Solution

2. The number of elements expected in the g-block of the periodic table

is:

° Watch Video Solution

3. In a 3D hexagonal unit cell of identical atoms, the number of atoms

that will contribute their 100% volume within the cell would be:

° Watch Video Solution

4. H, (gas) is bubbled through an aqueous solution of HCIl(pH = 2.5)
at 25°C. If at Py, (4) = 10_”:) bar the electrode potential will be zero.

Then find value of x.



https://dl.doubtnut.com/l/_4lup4lZqGgIZ
https://dl.doubtnut.com/l/_sp1PUkOnXqqL
https://dl.doubtnut.com/l/_Ig2McCSRRhm4
https://dl.doubtnut.com/l/_UcuYNBJF0wgi

| ° Watch Video Solution

5. What is the coordination number of Ce™ in the complex cerric

ammonium nitrate (NHy), [Ce(NO3)4]?

° Watch Video Solution



https://dl.doubtnut.com/l/_UcuYNBJF0wgi
https://dl.doubtnut.com/l/_Uo6CectaAU0w

